§ Euro-ferry

In the Castle shop

T For each quilt, find the percentage which is e grey e whit?
(a) (b) . @

grey 40 + 4%8%
white & % iz;,;
2 Complete.
20% = % 75% = "1?60_ Other
3 {a) Colour this quilt o 12% blue Shadings
° 20% red

° 50% green. 3 7’ PaSS(L{é.
{b) What percentage is not coloured? 4

4 (a) What percentage of this quiit is
° grey 3279 ® black? 3 %

{b) Use red and green to colour the rest of
the quilt.
{c) Complete. % is coloured red

% is coloured green.
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1 (@054 (b) 067 (c) 043 (d) 072 1 () % 50% (b) % 259,
o 0
2 (@094 (b) 31 (d) 1097 (d) 5471 (© 36 10%
(e) 3344 (f) 6474
; (@ 50% =3 (b) 25% =7 (9 10% =%
3 (@ 2211m (b) 1786m (c) 1604 m (@) 7 (b) 11 (0 20 (d) 3
(e) 7 f 12 (@ 5 (h) 9
4 ‘(a) 2-88 (b) 349 (c¢) 437 {d) 8-88 M 3 @ 17 (k) 14 M 10
(e) 1189 (f) 2727 (g) 13-37 (h) 4186
@ 0-67 () 3709 4 (a) 170 castle pencils, 54 bendy pencils
(b) 85 castle pencils, 27 bendy pencils
5 (a) £9-05 (b) £6-54 (c) £10-19 (d) £29-66
; 5 (a) 150 (b) 30
6 (a) £14-60 (b) £40-38 (c¢) £30-19
6 (a) 40 medium quilts, 8 large quilts
7 £70-66 (b) 40%
The Castie shop o 15 Patterns e i’@

1 (a) Draw the next two matchstick patterns. (b) Complete:

e Number of Number of
: /\ \7\/\/\/ hexagons matches
\YAVAVAVAVAVAVAVA IR b sl
2 s § 2
i p L e
2 4 — 24
5 — 30

(c) How many matches would
be needed for
© 10 hexagons 60

© 100 hexagons? &
(d) The number of matches

is ﬂ)i times the

number of hexagons.

PWAVAVAVAVAVAVAVA'
\VAVAVAVAVAVAVAY,

(b) Complete:

Number of Number of
crosses coloured squares

3 wo——J— 5

— 1O
3 amm—t——y [
4 omm——maipy 20
5 ey 25

() How many coloured squares
would there be in

@ 9 crosses 45
@ 20 crosses? Q0

(d) The number of coloured squares
is _Five tume,

the number of crosses.
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